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Interpolation

1) Direct Method
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P(x) = 3 + 3(x - 1)

Pc(X) = Sx3(x- 1) + 5(X- D(X -2)

P(x) = 3+ 3(x- 1) +5(x-D(X-2) + 1(x-1)(X-z)(X- 3)
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3rd Runge-Kutta
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Yits = Yi+ (k ,
+ 2kz+ 2ky + 43)

kn = f(xi
, yi)

k2 = f(xi+z , yi + Ekh)

ky = f(xi+ , y: + Ex2h)

kn = f(xi +h , y: + kjh)



8' = 1 +y+x2

h= 0
. 2

-

ke2f(xi , gi) , k2 = fixit , gi+*) , ky = f(xi + 5, y +h) , ky = f(xi+ h
, gi+(b)

a Euler : Yit = Gi + Y's .

h

y(1. 1) = y()+ y((). (0 .)) , y(1 , 1) = 0.5 - 0
.775y(1,

1)= 0, 325

y(1 . 2) = 0 . 2072

Y(1 ,3)s 0 . 1283

6) RK2: Yit = Ji + E (kxke) , k = f(xiyi)ikr-f(xi +&, yi+

ke =
- 1

. 75

k2= f(1 , 05
,

0 ,4125) =
- 1

, 4695

Y (1
. 1)20.5 + 005 (

di midpoint :

fix = fi + ke .
h Em = 0, 7 + 1 . 4695 · 0. 1

(1 = f(x,y) = - 1 .75
0 .646SE

kz = f(xi+ 18:+

42 = f(1 . 05
,opet

1221 , 4695



Fer &
Yit = Yi + Yi .h Y(1.1)= 0 . 375

Y(1 . 1) >
0

. 5 + (=) 8(1 . 2) = 0375+ 0
.1/

Y(1 . 1) = 0
. 5 - 0 . 125 = 0 . 33y I

RK2 Bu

X Y Yix = Ji+ (k+ 2k2+ 2kx+ku)

Hand midpoint k12 Y(xi , Yi)

Yit =Ji +h(k ,
+ (2) kz = y(xi + m

(1 = Y(xi , ji)

k2= y(xi+ , Yi+


